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1) If the equations of the medians of a triangle are 6y =x + 11 and 11x -6y =-21, find
its centroid.
2) Determine the centroid of ABCD, if CE and DF are the medians with the equations
y=-8x -4andy=x-1respectively.
3) IfAD,BEand CFarfl Gain complete access to the largest Bnby5x-6y=12,
X +4y=-8and 3xluollaction of worksheets in all subjects/fof A48
4) In AJKL, JM, KN are
respectively. Find t
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5) What is the centroid of the triangle if the equations of the medians are 6y = -5x - 29
and 7x - 9y = -29?
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